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1 

2. 

a, b 345 

(A) 

(C) 

13, where a, b are digits, is 

(C) 

(A) 5 

The number of numbers of the form 30a0b03 that is divisible by 

i. 

ii. 

a, b t -IGHG6 qUfF 

iii. 

(A) 

(C) 

5 

i. 

7 

ii. 

(A) 

7 

(C) 

[512109] 

S-C= 28 

3 

iii. S-C=28 

a, b are positive integters such that 

(B) 6 

(D) 

(B) 

1 

(D) 

3 

(B) 

The sum of their squares is S 

The number of such pairs ( 4, b) is 

(D) 

The sum of their cubes is C times the sum of the numbers 

6 

(B) 

2 

6 

2 

A 

(D) 6 
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A 

3. 

4 

5. 

(x y) 

3/74/u =4, X +y = 28 1 te% HTA Hqe 

(A) 

(C) 

equation 

(A) 

(C) 

The number of positive integer values of ( x, y) which satisfy the 

(A) 

(C) 

x +1=z, 

1 

(A) 

(C) 

1 

and xY +1= z is 

(A) 

2 

(C) 

[512109] 

2 

a+b+c+2023 ] HH 

(B) 

(D) 

2024 

x+y=4, x+y= 28 simultaneously is 

2034 

The number of ordered triples (x, y, z) such that x, y, z are primes 

(B) 

(D) 

(B) 

(D) 

(B) 

(D) 

2 

3 

a. b. c ye5 H 3 HI 34H YbR feF 64a +8b+c = 403, at 

(B) 

(D) 

1 

2 

3 

1 

infinitely many 

2025 

2035 
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6 

7. 

a, 

64a +8b+c= 403, then the value of a +b+c + 2023 is 

(A) 2024 

(C) 2034 

(A) 

(C) 

b, 

(A) 

(C) 

(A) 

(9999999999j 3h 51 T fah? 

(C) 

C are 

99 

(C) 

180 

[512109 j 

99 

180 

7 

What is the sum of the digits of (9999999999j ? 

digits of a three-digit number such 

11 

(A) 7 

their middle digit, is 

(B) 

(D) 

11 

(B) 

(D) 

(B) 

(D) 

(B) 

(D) 

2025 

2035 

(B) 

(D) 

108 

199 

The number of three-digit numbers which are divisible by 3 and 

have the additional property that the sum of their digits is 4 times 

108 

199 

4 

10 

4 

10 

A 
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9. 

A 

10. 

at* fff(x))) = 27x + 26, �# a+ b 

(A) 

(C) 

(A) 5 

(C) 

(A) 

If fS (x)) = 27x + 26, then a + b is 

5 

(C) 10 

(A) 

(C) 

9 

of these numbers is 

(A) 

(C) 

TG 3A# 6, 5, 5, 4, 4, 3. 2 3it 1 6l 34 3 3eft4 HT 3 V6 

5 

[512109 J 

5 

(B) 

10 

(D) 

6 

The eight digits 6, 5, 5, 4, 4, 3, 2 and 1 are used to form two 

3-digit numbers and one 2-digit number. The largest possible sum 

18 

(B) 

(B) 

(D) 10 

7 

10 

(B) 

(D) 

7 

(D) 13 

(B) 

(D) 

9 

13 

12 

21 
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11. 

12. 

The number of threc-digit numbers such that the product of their 

digits is a prime number is 

(A) 6 

(C) 

2*+1 

(A) 

(C) -1 

(A) 

(C) 

(A) 

(C) 

18 

+39 

(C) 

[512109 ] 

-1 

The number of real values (%, y) which 2x+1 +34 =3U+2- 2x is 

60 

80 

(A) 60 

(B) 

(D) 

80 

(B) 

(D) 

(B) 

(D) 

(B) 

(D) 

12 

(B) 

21 

(D) 

1 

2 

A merchant has 100 kg of sugar a part of which he sells at 7% 

profit and rest at 17% profit. He gains 10% on the whole. The 

amount of kg of sugar which he sold at 7% profit is 

1 

2 

50 

70 

50 

70 
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(C) 

20152 

(D) 

/2016 

(A) 

(B) 

1 

14. 

G 
a= 

2015, 

b= 

2016, 

(Va 

+\b)(a 

-b) 

Va+b 

a-b 

ava 
+ b/b2NbJab51 

H7 

(C) 

85 64 

(D). 5 

67 

(A) 

87 60 

(B) 

Correct answer by 

340 33 

The 

correct 

answer 

is 

divided 

the 

fräction 

by 

17 16 

and 

got 

answer 

that 

executed 

the 

Raj 

was 

asked 

what 

is 

17 

of 
a 

certain 

fraction. 

By 

mistake 

he 

(C) 

85 64 

(D) 

85 67 

(A) 

87 60 

(B) 

17 

340 33 

13. A 
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(C) 

4 

(D) 

(A) 

(B) 

2 

16. 

5xVgx-1 (C) 

403 

(D) 

410 

(A) 

225 

(B) 

404 

term 

of 
this 

series 

equals 

2015? 

square 

of 
the 

difference 

of 
the 

4th 

and 

the 

lst 

termns 

is 
225. 

Which 

difference 

of 
the 

4th 

and 

8th 

terms 

to 
the 

15th 

term 

is 

15 4 

and the 

An 

arithmetic 

progression 

has 

positive 

termns. 

The 

ratio 

of 
the 

(C) 

403 

(D) 

410 

(A) 

225 

(B) 

404 

ruft 

H-

qG 

2015 

q{IS{ 

? 

15. 

(C) 

20152 

(D) 

J2016 

(A) 

(B) 

1 

(Va 
+b) 

(a 
-

b) 

ava + bVb 

Va+fb 2/b 

a-b Vab 

When 

a= 

2015, 

b 
= 

2016, 

then 

the 

value 

of 

A 



|A 

17. 

18. 

The 

(A) 

(C) 

(C) 

29 faf aV5 aai 

(A) 6 

number of values of x which satisty 

1 

(C) 

4 

(A) 

(A) 6 

(C) 

[512109] 

= 500 is 

24 

(B) 2 

A number when divided by 899 gives a remainder 63. The 
remainder when this number is divided by 29 is 

18 

(D) 

(B) 

(D) 

7 

5 

(B) 7 

(B) 

(D) 5 

(D) 

36 

22 

the equation 
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19. 

A train leaves a station 1 hour before the schedule time. The driver 

decreases the speed by 4 km/h. At the next station 120 km away, 

the train reached on schedule time. The original speed of the train 

in km per hour is 

(A) 

(C) 18 

(A) 

(C) 

(A) 

24 

(C) 

ABCD q tacau BD À, BA qUG{ iGIS BX HIel T| X #, 5 

(C) 

W2 BD 

[512109 ] 

V3 BD 

/2 BD 

(A) 1 

V3 BD 

(B) 

(D) 

3 

(B) 

ABCD is a square. From the diagonal BD, a length BX equal to BA 

is cut off. Fromn X, a straight line XY is drawn perpendicular to BD 

to meet AD at Y. Then AB+ AY equals 

(D) 

(B) 

(D) 

36 

(B) 

22 

(D) 

BD 

/2 

BD 

BD 

BD 

A 

2 
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A 

21. 

22. 

The number of natural number pairs (x, y) in which X>y and 

540-1 is 

(A) 

(C) 3 

farg t fay ABC > fes D 

(A) 

(C) 

(A) 

y 

(C) incentre 

(A) 

|x-3|-| x+1| 
2| x+1| 

(C) 

AB and AC are tangents at B and C to a circle. D is the mid-point of 

the minor arc BC. For the triangle ABC, D is 

(A) 

orthocentre 

(C) 

(B) 

[512109] 

(D) 

2 

(B) 

(D) 

(B) 

(D) 

(B) 

2 

(D) 

4 

(B) 

circumcentre 

The number of real solutions of the equation X-3|-|*+1| 

centroid 

1 

3 

1 

(D) 3 
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23. 

24. 

8*+27X 
12* +18X 

(A) 2 

(C) 

(A) 

(C) 

The number of real x that satisfy the equation 
8* +27x 

4 

(C) 

2 

4 

(A) 36° 

48° 

|512109 ] 

ZPSQ = 10°, then ZPOQ is 

(B) 3 

(A) 36° 

(D) 0 

fATATaft RS qa t fa UGR 3At ZPSQ = 10°, at ZPOQ 

(C) 48° 

(B) 

(D) 

(B) 

(D) 

3 

(B) 

P. O, R are three points on a circle with centre O. QR meets the 

diameter through P at S. If RS equals the radius of the circle and 

(D) 

42° 

54° 

42° 

12* +18x 

54° 

is 
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A 

25. 

(A) 

(C) 

The number of integers 

(n-2\(n-20) <0 is 
(A) 

3 

(C) 

[512109] 

3 

(B) 

(D) 

n 

6 

(D) 

12 

that satisfy the inequality 

(B) 6 

12 
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